SUMMER MATH PACKET
For Students Entering
7th Grade Math

Student’'s Name:

Message to Parents:

The mathematics teachers want all students to be as successful
as possible in middle school math. This math packet has been
designed so that students will maintain and review their math
skills during the summer. The packet is divided into eight
weekly sections. Students are to complete one section a week.
NO CALCULATORS ARE PERMITTED! Answers are provided for
parents so that you can check your child’s work. Please monitor
the progress of your son or daughter so that the work is
completed on a weekly basis, not the day before school begins
in August. All students are required to complete this packet.
This packet will count for % of a test grade for the 1st quarter
of the school year, To receive credit for this packet, all of the
problems must be completed and ALL SUPPORTING WORK
MUST BE SHOWN! During the first week of school, your child's
math teacher will review and collect all packets. Please note
that the quality of effort is more important to us than getting
all the correct answers. Hard copies of the packet may be

picked up at the main office. Thanks so much for your
cooperation and support!

Please sign below and verify that your child has completed the
packet and all supporting work is shown.

Parent/Guardian's signature




WEEK ONE:

4. Annic and Bemie built a maze for their hamsters. Apnie’s hamster completed the
maze 7 seconds less than twice the time it took Bemie's hamster to complete the
maze. If Bernie's hamster compieted the maze in b seconds, which expression
tepresents the time, in seconds, it took Annie’s hamster to complete the maze?

A 7-2 C. 2b+7
B. 26 -7 D.-z?b

2. A jewcler makes bracelets from silver chain. She made 7 bracelets that were
each 5% inches long. Ske also made 3 bracelets that were each 6% inches long.
What is the total length, in inches, of silver chain that the jeweler used to make

ali 10 bracelets?
o2t H. 5393
4 4
1
G. 53 l. 122—
2

3. A concession stand at a baseball field pays $0.05 for each packet of mustard. How
much will the concession stand pay for 7,000 packets of mustard?

4. Og his whitcboard, Jamal correctly wrote 2 mixed number in lowest terms that
was equivalent to 3.35. What umber did Jamal write on his whiteboard?

A E‘»1 c. 31-
. 5 20
B. 53 0. 3—?:-5—
100
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5. Which of the following is NOT equivalent to 1%?

80

" 100

G. 3%

H. 0.3

. 80%

6. The steps Laura used to solve an equation are shown below. What should

Laura change in order to solve the equation correctly?

A. Subtract 60 from both sides before dividing by 6.

60 = 6x - 34
60 6x
— —— 34
6 o
10=x-34

44 = x

104+34 =x~34 +34

B. Add 34 to both sides before dividing by 6.

C. Subtract 34 from both sides before dividing by 6.

D. Rewrite the equation as 6x = 60 - 34.

7.  Four customers at a deli each bought a different itern. Each item had a different
price per pound. The amount of the item each person bought and the total
amount each person paid are shown below.

Francesca: 0.7 pound for $11.19

Gail: :'IJ_' pound for $12.00

Henry: 0.62 pound for $10.75

Isaac: 1-1‘; pounds for $20.63
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Which customer bought the item that had the lowest price per pound?
F. Francesca H. Henry
G. Gail I. Isaac

B. Simone has 340 to buy bascballs for her team’s practice. Each bascball
costs$3. Which inequality represcats this situation?

A 3b<dd) C. 3b<39
B. 36> 40 0. 36>39

9. Which inequality represents the solution to the inequatity below?

26 < 6a
F. a <20 H.a<4%-
Pe
1
G. a>20 l.a>4-§

10. Four squares measuring 5 centimeters on each side are combined to create two
different figures, as shown below.
Flawe ¥ FioweZ

‘Which statement correcily compares the perimeters of Figure ¥ and Figure Z?
A. The perimeter of Figure Y is equal to the perimeter of Figure Z.
B. The perimeter of Figure ¥ is equal to 2 times the perimeter of Figure Z,
C. The perimeter of Figure ¥'is 2 centimeters less than the perimeter of Figure Z.

D. The perimeter of Figure ¥'is 10 centimeters less than the perimeter of Figure Z.
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41. Which graph represents the inequality shown below?

x>5
E ettt il
-9 -3 -V~ S5 -} -3 21T & 1V 2 2 4 & & 7 ¥ 9
e T B B B T s e e e by B e S e e e
-9 -3 F-6-F-J=-F_2-3 ¢ 1 2 3 4 § 5 7 & 3
H, “——— Qe
- -8 ~F~h -5 -4 «-2-2-1T ¢ 1 2 2 4 5 & 7 § 3
R B S e s e S a e e e e  a
-9 -8 -7~ ~5 -4 -3 -2-3 6 1t 2 F 4 5 5 2 2 3

12, SHORT RESPONSE For each expression, explain how to use the properties
of addition and multiplication to simplify the expression with the easiest
computation possible. Show your work and name the properties you used.

Partd 47 x 38 + 47 x 62

Part B 752 + (467 + 248)
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13.What is the missing number in the input-output table below?

Input 3 5 ? 17
Qutput 16 22 31 58
A3 c. 11
B. 9 D. 14

14 Which equation represents the line in the praph below?

T

R

e onf WG

X3

w b W OB b

0 - = e j—

F. y=4x—3 H. y=-;—:c+l

G. y=2zx+1 IR y=%x-—1

15. EXTENDED RESPONSE The manager of an appliance slore hes 6 washing
machines for sale. The priccs of the six mackines are shown in the box below.

$450, $400, $450, $599, $675, $500

The manager decides to also sell a seventh washing machine that has many
additional features. The price of this machine is greater than $1000. Describe
‘how each of the following measures will change when the price of the seveath
washing machine is included with the prices of the 6 original machines.
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FPart A the mean Mean

Part B the mode Mode
Part C the range Range
Part D the median Median

Copy and complete the statement using the specified property.

16. Commutative Property of Addition: 4 + 11 = _?

17. Commutative Property of Multiplication: 12 e & = __7

18. Associntive Property of Addition: 21 + (9 +8) = _?

19. Associative Property of Multiplication: 12 « (5 « 4) = _?

20, Multiplication Property of One: 18 e we 1 = __7

21. Addition Property of Zero: 26 + ¢ + 0 = __2

Use the distributive property to simplify the expression.

22. §(a + 6) 23. 7(p -5)
24. 10(9 + x) 25 6(2+a+9)
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WEEK THO:
Simplify the expression. identify the properties used.

26, 4(x-3)

27. (30x)~7

28. Use n formula to find the area of the figure.
A=Y¥bh

29. Tickets to a basketball game cost $4 for adults and $2 for children. Writc en expression that
pives the total cost for a adults and ¢ children to attend the game. What is the total cast for
a family of 2 adults and 3 children to aftend the game?
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Perform the indicated operation.

30. -7—x§ 31. 235x4
9 5
32, 3-1- = :?.i 33. 035x12
8 9

34.-3:1.-l 35. 2-—1-'-:--:1

5 4 4 8
36. 3.6+3 37. 0.25)7.38
Estimate the product or the quotient.
ag. 25 10 39. B oy

6 13 16
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40.32 x 9% a4l 6725 2 43, 5004 22
g 71 7 14

43. Estimate the area of the parallelogram.
Did you overestimate or underestimate?

Write the decimal as a fraction or mixed numbaer in simplest form.

4. 06 45. 336 46, 0325

Write the Smction as a decimal.

31
25

47.

thlw
£
o
:

co | L
Ia
o

50. A recipe for a batch of 3 dozen chocolate chip cookies calls for 3 cups of flour, 1 cup of
sugar, and 2 cups of chocolate chips. How much of each ingredient should be used to make 2
dozen cookies?
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WEEK THREE:

Estimate by rounding.

51, 63x72 52 124.23
g °q

53. 24%of 102

54. A twelve-pack of juice costs $4.20. An cighteen-pack costs §5.40. Which is the bettcr buy?

Write the fraction or decimal as a percent.

55, 3 56. 0.76 57. 2

3 3
58, 325 59. i— 60. 1.26
61. 1-;— 62. .032
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63. Chris, Mary Beth, and Allison are discussing the number of oranges grown in Florida, Chris
says that approximately 14.6% of the world's oranges are grown in Florida, Mary Beth says
that 292 out of every 2000 oranges are grown in Florida, and Allison says that 0.146 of
the world’s oranges are grown in Florida. Who is correct? Explain your reasoning.

64. Usc a number Line to order 42%, 52, and 0.425 from least to greatest.

65. A p1zza shop offers 30% off the price of a large pizza every Tucsday night. If the regular
price is $25, what is the discounted price?
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66. Write the ratio of basketballs o footballs as a fraction in simplest form.

Veg
T
%@%@@

67. You run 6 miles in 1 bour. At this rate, how long will it take you to run a marathon
(approximately 26 miles)?

68. What are the mean, median, mode, and range for the data?
3,8,6,6,6,4,9,9,12

Mean (avernge)
Median (middle nomber in order)

Mode (most often)

Ranse (highest— lowcst)
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§9. Katie makes 70% of her shots from the free-throw line. Can you determine how many
consecutive free-throws she must make in arder to increase her percentage to 7 %7 Explain.

70. Find the total area of the figure. Use 3.14 for .

Area of rectangle: A =bh
Area of triangle: A= % bh

Area of semicircle: A=% r*

4134 Bigldeas Math Green Capyright ® Big Ideas Leaming, LLC
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Use a formula to find the area of the figure.
72.

ASELT )

73. A=(b+b}xh +2 74. A=bxh=+2

Write a formula for the area of the shaded region in terms of x.
75.
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WEEEK FOUR:

76. A farmer builds a fence to enclose a rectangular pasture. He uses 160 feet of fence. Find the
total arca of the pasture if it is 30 feet long, A=bh

77. Find three possible sets of dimensions for a parallelogram whose area is 120 square feet.

Solve the aquation.
7B. 2543 =14s 74. c+4c =15

SR gg?*

Pyt e \.‘““-.-

80, Write and solve an cquation to find the width of the box if its
volume is 96 cubic centimeters. V= lwh

436 Big ldeas Math Green Copyrighl @ Big Ideas Leaming, LLC
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Write the word sentence as an inequality.
81. A numbertis less than 7. 82. A numberm is at 1=ast -3,

Write the phrasa as an expression.

83. twice a mmber n plus 6 84. 7 less than 3 times a number m

35. the difference of 25 and a number w

86. You have two cats. Each cat has a litter of 6 ldttens. Write an expression that describes the
total number of cats and kittens you have.

Solva the inequality. Graph the solution.

87. -g- >6 83. 55 > 11a

A
Y
F 3

‘F

§9. 8t > 24

F Y

L 4
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90. One cell phone plan costs $13 per month plus $0.10 per minute used. A second ccll phone
plan costs $50 per month for unlimited use. Write and solve an inequalily to {ind when the

second plan is cheaper than the first.

91. Draw a mapping diagram of the

set of ordered pairs.

(2.3) (3,5, (4.2, (5.2)

D

w o le 4 &

2. The table shows the totel cost of downloading x songs.

a. Graph the data.

; I ;

O v 19 G & L Goie

1

b. Find a function to describe the data.

0 ) 1345¢7 6%

T 258527 B3
Songs Cost {5)
4 3
6 4.50
8 ]

¢. At this rate, how much will it cost to download 12 songs?

438 Bigldeas Math Green
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Simplify the expression. identify the properties used.
93. 4(x +3) 94. 3-x)-7

95. Use a formula b x h+2 to find the area of the figure.

96. Tickets to a basketball game cost $3.50 for adults and 32 for children. Write an expression
that gives the total cost for 2 adults and ¢ children to attend the game. What is the total cost
for a family of 2 adults and 3 children to attend the game?

Perform the indicated operation.
5 4

97. Zx= | 98. 2.48x3
7 6 .
3 2
89. 4= x 3— 100. 0.45x 32
8 5
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WEEK FIVE:

Perform the indicated operation.

2
101, £+-: 102. 4-3;--:-1-
7 3 8
103. 4.8 +2 104. 0.35)1.61
Evaluate the expression.

105. You buy 64 oranges for $22.75. How much does each orange cost?

306. You and three of your friends go parasailing for $128.40. You split the cost evealy. How
much does each person pay?

107. The yearly precipitation of Key West, Florida is 38.94 inches. About how much
precipitation falls each month?

Copyright @ Big |deas Leaming, LLC
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108, Estimate the area of the parallelogram.
Did you overestimate or underestimate?

Write the decimal as a fraction or mixed number in simplest form,

109. 03 110. 4.68 111. 0.352

Write the fraction as a decimal.
112, 2 113, = e, B
3 16 20

115. A recipe for a batch of 3 dozen chocolate chip cookies calls for 3% cups of flour, 1 cop of

sugar, and 2% cups of chocoalate chips. How much of each ingredicat should be used to make
2 dozen cookies?
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Estimate by rounding.

116. 3.8 x 9.2 117. 13-;- . 53 118, 24% of 22

419, A twelve-pack of juice costs $3.90. An cighteen-pack costs $5.49. Which is the better buy?

Write the fraction or decimal as a percent.

5 21
120. — 121. 0.04 122, —

3 3
123. 212 124. 1%

125. Chris, Maty Beth, and Allison are discussing the mumber of oranges grawn in Florida. Chris
says that approximately 14.6% of the world's oranges are grown. m Flodda, Mary Beth says
that 292 out of every 2000 oranges are grown in Florida, and Allison says that 0.146 of the
world's oranges are grown in Florida. Who is correct? Explain your reasoning.
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WEEK SIX:

126. Usc a number line to order 120%, %, and 1.17 from least to greatest.

127. A pizza shop offers 30% off the price of a large pizza every Tuesday night. If the regular
price is $23.50, what is the discounted price?

128. Write the ratio of bascballs to soccer balls as a fraction in simplest form.

129. Yourun 5 miles in 1 hour. At this rate, how long will it take you to nmn
a marathon (approximately 26 miles)?

130. Determine the mean, median, mode, and range for the data.
12,12,10,8,9,9,9,11, 11, 8

Mean= Mode=
Mediap= Range=
Copyright © Blg Ydeas Learning, LLC Big ldeas Math Green 443
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131. Katie makes 65% of her shots from the free-throw line. Can you determine how many
consecutive free-throws she must make in order to increase her percentage to 68%7? Explain.

132. Find the area of the figure. Use 3.14 for x.

bxh+2

"X +2
bxh

133. A farmer builds a fence to enclose a rectangular pasture. He uges 155 feet of fence. Find the
total area of the pasture if it is 45.5 fect long.

4144 Big ldeas Math Green Copyright @ Big ldeas Leaming, LLC
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Solve the equation.

134. -3-.5' +2=14 135, 135c+c =20

Teil whether the ordered pair is a sclution of the equation.

136. y = x+5,(27) 137. y = 9x (3,12)
138. y = 2x + 3; (4, 12) 139, p = %— 4,(8,0)

140. You are mnning at a raie of 6 miles per hour.

a. Wirite an equation that relates the distance d traveled in b hours.

b. How many miles do you run in 2 hours?

141. Write and solve an equation to
find the width ofthe box ifits
volume is 80 cubic centimeters.
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Write the word sentence as an inequaiity.

142. A number w is less than 3.5. 143. A numbermis at least 7.

144, Onc cell phone plan costs $12.50 per month plus $0.15 per minuie used. A second cell phone
plan costs $42.50 per month for unlimited use. Write and solve an inequality to find when
the second plan is less expensive than the first

Songs | Cost ($)
3 1.50
5
7 3.50

145, Draw a mepping dingram of the set of ordered pairs.  input-output table herc)
0,1, 2,5), (4,1), 3,2)

Write an equation that describes the function.

146. Input Outpui U2t Input Output
0+—L10 o4+—o
1 »11 1 -3
2 12 2 =
3 ] . 13 3_‘ \ 9
146 Blg ldeas Math Green Copyright & Blg |deas Leaming, LLC
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Write an equation that describes the function.
148, The output is eight less than the input.

149. The output is double the input.

150. The table shows the total cost of downloading x songs.

a. Graph the data.

Songs Cuost {$)
3 1.50
5 2.50
7 3.50

;.?. L
2

t

in M

ol

b. Find z foncton to desczibe the data.

¢. At this rate, how much will it cost to download 12 songs?
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WEEK SEVEN:

Write the orderad pair that corresponds to the point.

151, Point 4
153. Point C
155. Point E
157. Point G
159, Point I
161. Point K

Put the data from the Input-output table in a graph. Describe the pattern.

152. Point B
154. Point D
156. Point ¥
158. Point A
160. Point./

162, Point L

163. Input,x {-1]0

Output, ] 3 1

165, Input, x | -5 {-3

Qutput, ] 1 | 3

448 -Big Ideas Math Green
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164.

160,

b D‘-i oo
L I L Y R S
WEETEM IR
IR I ¢ (R A
NN 1A
l-¢-3-2 |O] 1 2 a 47
TN I
: [y I .
G a_ A
k1B 1 :
input, x 2141618
Output, y | -1 | -1 |-1{-1
Input, x |-2]10{214
Oufput, ¥ | 5 112
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Evaluate the expressionwhen x = 6,y = ~2,and z = -3

167.-’25-;-: 168, y - x 169. x+y+z

170. |z 7.z ~y 172 |x+ |

Write and solve an equation to find the missing dimension of the
rectangular prism. V=Ixwxh

473. Volume = 18,000 cm? 174. Volume = 16 f

475. A cube has sides of length 2 meters. Explain what bappens to the volume
of the cube if the Jength of the sides is doubled.

Comyrighl @ Blg Ideas Leaming, LLC Big ldeas Math Green 149
Al dinhis teeprved. Assessment Book



JVEEK EIGHT:

Find the perimeter of the figure. (hint: Don't forget to find the missing
251

sides
176.

first!)

Eyd

Find the area of the figure. Use these formuias:

179.

A=Ixw

— ey

qin.

177. . 178.
A EY g mm
¥ mm
T mm
bin 12 mm Imm
& in.
A=bxh+2 A==
-180. 181. it
S5t *
by
¢ mm : 1211

Find the distance. Use d=rx¢

182. d = _2_,r =10 fifsec, t = 6sec

15 Big ldeas Math Green
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183, d = _2 ,r = 25mifb, ¢ =3k

241
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184. d = _2_,r = 14 m/day, t = 12 days 185. d = _2_,r = 72 fifmin, ¢ = 14 min

rr— Y

186. At a grocery store, you buy four cans of soup tor §5. How much would you
pay for six cans of soup?

Estimate the percent of the number.
187. 73% of 81 188. 2% of 190

189. 5% of 220 190. 49% of 363

Use a number line to order the numbers from least to greatest.

191. 3-"-;- 362%, 3.66, 3%, 36 192. 0.3,273%, i—;-, 28%, 0.27

L 4

F 3
A
k 2

Without finding the quotient, copy and compiete the statement using <, >,
or =,

193, 4.58 + 0.57 _?__ 45.8 + 0.57 194, 4073194 _7 _ 4073 +194
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195. You are saving your money lo buy a guitur that costs $275.75. You have

$40 and plun to save $7.50 each week. Your uncle decides to give you an
additional $8 each week.

a, How many weeks will you have to save until you have enough money to
buy the guitar? Shesw all worl.

b. How many more weeks would you have to save to buy 2 guitar that
costs $339.757 Explain how you found your answer.
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Week 6 — 6™ grade
Add.
1) 43,816+39,972
2) 8.45+8.99+92
3) 8% +3%
Subtract.
4) 50,031-9352
5) 900.7 -39.82
6) 8% -3%
Multiply.
7) 784x032
8) LTxdxe
9) 3% x33
Divide.
10) 469.86% 8.2
11) 8% 0.25
12) 25*1¢
13) Write as a mixed number: 13~

14) Find the LCM of 12 and 15.



15) Write the next three terms in the sequence:

7.89, 8.78, 9.67, 1056, __, __,

16) Write as a percent: %

17) Write as a percent: 2.5

18) Write as a fraction in simplest form: 40%

19) Write as a decimal: 3%

20) A radio has a list price of $36. The sales tax rate is §%. Find the
total cost of the radio.

21) A number cube is labeled 1 - 6. Find the probability of rolling an
even number.

22) Solve: 2x=144

23) Find the measure of £ AED.

24) According to the stem-and-leaf plot below, how many members of the

Investors Club are older than 307 t] 294

1] 2 44

3|o tbé
yla234

5 02,51182
b

41%9

25) Solve: k—12=18

26) Find the GCF of 24 and 36.



27) Find the first 4 muitiples of 6.
28) Solve: 723+6x2+4
29) 6*-(18-6)=3

30) 5+3x8%6



Week 7 - 6" grade
Add.

1) 7+8%

92) 1.5+8.24

3) 8.4+0.36
Subtract.

4) 75-4.9

5) 8.9-3.76

6) 91-3%
Multiply.

7) 2x4.06

8) 23 x10

9) 0.35x0.009
Divide,

10) 54 #0.09

11) 036+ 0.012

12) 75+571
Use the following data to answer #13 —16: 35, 20, 40, 25, 25

13) Find the mean.

14) Find the median.



15) Find the mode.

16) Find the range.

17) Find the GCF of 36 and 54.

18) Write the prime factorization of 150.

19) Find the area.

20) Find the circumference.

21) Find the perimeter. 3s2m
el 15m
462m
22) Complete the table.
4 8 7 8 8 18
0 1 3

23) Solve: 26-24+3x2

24) Jennifer buys 8 bottles of apple juice for $10. What is the unit price
of each boitle?

25) 56m=__ km

26) Convert "’g to a decimal.

27) Convert % to a percent.

28) Kelly eans $15 more per week than Courtney. Together they

earn $77 a week. How much does Kelly eamn in a week?




29) At midnight, the temperature was 12°F. The temperature dropped

15° over the next 3 hours. What was the temperature at 3 AM?

30) Solve: g§-—-(12-5)x0



Week 8 — 6 grade
Add.
1) 379,487+ 945,682
2) 125+4F
3) 6.379+28.7
Subtract.
4) 90,004 - 38,207
5) 754-8.79
6) 5&-1%
Multiply.
7) 507 x 0.67
8) 25 x1d
9) 3% x4%
Divide.
10) 23.958+3.6
11) 23,452+ 67
12) 5+3%
13) Write an algebraic expression for the word expression:
thirteen less than a number k

14) Evaluate: 3.6a when a=32



15) Jennifer spent a total of $43 when she went shopping. She spent
$14 for a belt, $18.75 for a purse, and she bought lunch. When she
got home, she had $4 left. How much did she spend for lunch?

16) The test scores for the last test in Mrs. Smith’s class were these:
84, 73, 91, 60, 76, 78, 74, 79, 76, 89. What was the mean of
the scores?

17) What was the range of the scores in #16.

Use the stem-and-leaf El_ot to answer #18 - 20.

This stem-and-leaf plot shows the ages of residents ina |
retirement village.

Stem | Leaves

6 77899
7 233379
8 136899

18) What is the range of the ages?

19) What is the median age?

20) What is the mode of the ages?

21) The City Bus stops at the shopping mall at 10:15AM, 11:45AM,
1:15 PM, and 2:45 PM. If this pattern continues, at what time will
the 6 stop be made?

22) Solve: k-4=15

10 5

23) Compare using<,>,0r=: <& 5

24) Write as an improper faction: (%



25) Convert 48% to a fraction in simplest form.
26) Find the unitrate: 6 for $1.20

27) Write the ordered pair for point B.

A X

m

=Y

28) Solve: 24+3+9x2

29) Complete the table:

3

E-]
fa o 11}
m

¥ 6

30) Find the perimeter,




Weel 9 — 6" prade
Add.

1) 83.73+9.628

2) 5% +93
Subtract.

3) 39.4-—2.347

4) 13%-73
Multiply.

5) 4599 x20.6

6) 6% x3%
Divide,

7) 0.06 0.125

8) 6%+2¢
9) Solve: 81 (7-4)
10) Solve: 3* +7
11) Write in standard form:  eight hundred and two thousandths
12) Ryan’s family bought 14 rolls of film for their vacation. There are

24 pictures on each roll of film. If they use all except 3 rolls, how

many pictures did they take?



13) Given a number cube labeled 1,3, 5,7, 9, and 11, what is the
probability of rolling a number greater than 37

14) Write all of the factors of 48.

15) Write the prime factorization of 180.

16) A stack of 32 math baoks is 0.64 meters high. How thick is each
book?

17) Convert #16’s answer to centimeters.

18) Find the unitrate:  $135 for 6 hours of work

19) Find the sum:
5 hr 30 min
+4 hr 40 min

20) Use the grid to shade the amount: 42%

21) Convert 3:"5 to a percent.

22) Convert 0.785 to a percent.

23) What percent of 12 is 3?

24) Write the measure of the third angle of the triangle:

110, 40°, _ °



Use the figure to answer #25-28.
25) Find mZA.
26) Find m£C,
27) Find m £D.

28) Find mZ B. A

/B

2cm

30) Solve: 28+2x4-12

29) Find the area:



Week 10 — 6™ grade
Add.
1) 895.62+37.8
2) 4% +73
3) 9+12%
Subtract.
4) 483-262
5) 8-3%
6) 16%-4%
Multiply.
7) 16.24 x 0.408
8) 8% x5%
9) 13 x73 x2%
Divide.
10)8 + ¢
11) 36.18 + 0.06
12) 45 +1%
13) Solve: 6% (5+4)-2"
14) Evaluate: 8w-—4 when w=3.

15) Solve: %’“—“12



Use the data below to answer #16-17.
88, 68, 85, 70, 57, 88

16) Find the mean.

17) Find the median.

18) Solve: 48%+2x6

19) Selve: 32+14+7x2

20) Solve: {_.:. = 5.%

21) Complete the table.

X -1 8 8 12

15

18

¥y 1 2 K} 4

22) Findthe unitrate: 84 sit-ups in 3 minutes

23) Write the ordered pair for point C. ’ tx

4

<y

24) Find the area.

L
a.smb

43m

25) Find the perimeter.

23cm

46cm




26) John answered;‘} of the problems on a test cortectly. If there were
32 problems on the test, how many did he answer correctly?

27) Ryan eams 38 an hour. Ifhe is paid 1';7 tirnes that on Saturday, how
much does he eam per hour on Saturday?

28) Convert %‘ to a decimal.

29) 80% of what number is 40.

30) Write the measure of the third angle of the triangle:

62°, 24°, ¢



